Parts Breakdown

Model CE-CN-1700-F 44522




Parts Breakdown

Model CE-CN-1700-F 44522

Item No.
AE161
AE162
AE163
AE165
AE208

AE185

AE186
AE187
AE188

AE189

Description

Bezel for Thermostat Knob for 44522
41 Knob for Thermostat for 44522
EGO Thermostat 200C for 44522

Oil Pan for 44522

Cover Assembly for Ol Pan for 44522

Supporting Rod for 44522

Rotor Shaft for 44522
Limiting Shaft for Electric Box for 44522
Heater for 44522

Grid for 44522

Position

1
2
2a
4
10

24

25
26
27

28

Item No.

AE190
AE191
AE192
AD712
AE193

AE194

AE195
AE196
AE197

AE198

Description

Frying Basket for 44522

Elbow for 44522

Supporting Rod for Basket for 44522
Power Switch for 44522

Drainage Valve for 44522

Decoration Ring for Drainage Valve for
44522

Self-Plugging Rivet for 44522
Nut GB/T 6170 M4 A2 for 44522
Nut GB/T 6170 M5 A2 for 44522

G12 Hex Nut for 44522

Position

29
30
31
32
33

34

35
36
37

38

Item No.

AE199
AE200
AE201
AE202
AE203

AE204

AE205
AE206
AE207

AK400

Description

Screw GB/T 818 M4x10 A2 for 44522
Screw GB/T 818 M4x16 A2 for 44522
Screw GB/T 818 M4x6 A2 for 44522
Screw GB/T 818 M5x16 A2 for 44522
Indicator/Green for 44522

Indicator/Yellow for 44522

Foot for 44522
Joint of Drainage Valve for 44522
Connection Strap for Heater for 44522

Complete Fryer Head Assembly for
44522

Position

39
40
4
42
43

44

45
46



